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4. Fof-2d=E #ETTo ot T
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¥ Tak 5 | Ak | (©+O)/O
APdaeKke)

@ R> 119l
1 |Is7E=(FH =) 5,000 - [on]
1-1 [ 74 200,000 - v
2 |3 N ) 5,000 - T
2-1 |34 N (A7) 200,000 - mel e
3 |MEgo]iar]oldolE 150
4 |EZ2A 750
5 [olad=EYEY 20,000
6 |EEYo} [k 200,000
7|94 20,000
8 [o]Atsls) 250,000
9 |4t 75,000
10 |o]3}3}etAi 5,000
11 |AIgkstrA 1,000
12 | B3Fa[EaeA 9] 1,000
13 |Gl [dik2A19] 20,000
14 |3shri 1,000
15 |AAgegs 500,000
16 YERZZgAd 10,000
17 | EEUEZERA 50,000
18 |4 50,000
19 |Atstoldel 10,000
20 |Z2~3 50
21 (A= 50
22 |HAHEFHF 94.5% 1) 250
23 |0 o ¥ T 6% 500,000
24 | A(FH 52% ©17) 3,500
25 |EFelto] Aol o] E 100,000
26 |FRREEA 500,000
27 | BEIETa 2,500
28 |Aaskel 750,000
29 [d3 WA 750,000
30 |o]atsbed A& 500
31 |¥st ged 150 %031]4511.97{4{!5
32 |n= 100,000 L
33 |gatstda 1,000
34 |BAx EfYstE 1,500
35 |WedEAER IS E 2,500
36 |[AE3 54 150
37 [UERoldH 2,500
38 |9 EgZgo=sl 500
39 |24 20,000
40 |AlolFrE EF o E238E 50
41 A EgEFo=stE 2,500
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EZ A220Ax 4
42 e 19,69 oAb 100,000
43 [Batsi 3,500
14 [FARA o 3,500
45 [gzzzde 1.500
46 |Yol¥g dFrE AsE 2,500
olAZ 2T 2 VARCRE
47 fﬂ]é IS A H7ER) 3.500
48 B EH 1% o) 1.000
49 |92 EF 10% ©1 %) 20.000
50 |3HEZ 10% ©14h) 20.000
51 |HEYoF(EH 10% ©17d) 20,000
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O A3AdNA FA-AZF @ A% - T 5,000kg (H7: 200,000kg)

O #F3ll - -] 8% - Ax - Fw - A AulellA 34344 &
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19 A A8 (kg) | AT (hg)

= > o] AL ILAOLAH A = AF
O A& 4
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2% ME- 32 & A%A BOHE &) il
Ol 2 OF Al EHI O 1,600kg 7,200kg(8m)
IS 16kg - =380
DX OolC=
2 ol &30 = 600kg 12,800kg(16m) iH x2t02
=500 =252
NEEETY, 200kg 7,200kg(8m) o
s =20 220kg 6,900kg(8m)
g 3,636Kkg 61,260kg

= (3,636/5,000)+(61,260/200,000) = 1.0335

= R (0] 10|y 0|22 SFPAHEIN HME Q.



